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Note : (i) All the four questions are compulsory. 

(ii) All the questions carry equal weightage. 

1. Answer the following question  in about 
600 words : 

Discuss the definition,  meaning and scope of 
organizational behaviour.  What are the key 
elements in organizational  behaviour ? 

OR 
Justify the statement -  "School climate is a 
multidimensional concept". Discuss different 
dimensions of school climate. 

2. Answer the following question in about 
600 words : 

What is transactional analysis (TA) ? From TA 
point of view people interact with each other from 
three psychological positions. Explain these three 
Psychological positions. 

OR 
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What do you understand by communication ? 
Discuss how the common barriers disrupt the 
effective communication process ? Give 
suggestions to overcome them. 

3. Answer any five of the following in about 
120 words each : 

(a) What are the functions of Central Advisory 
Board of Education (CABE) ? 

(b) What are the attributes required of a teacher 
to be effective in community participation ? 

(c) What do you understand by leadership role 
in the school context ? 

(d) How would you plan to utilize a Resource 
Centre ? 

(e) Discuss the importance of Parent Teacher 
Association. 

(f) What care will you take to manage the 
school budget ? 

(g) What are co-curricular activities ? What is 
their significance for students ? 

(h) What is time-table ? Why is it important ? 

4.  Answer the following question in about 
600 words : 

As incharge of co-curricular activities in your 
school, suggest some new co-curricular activities 
which you would like to introduce in your 
school. How will you organise them to enrich 
the daily class work ? 
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